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Instructions to Candidates:

Answer should be completely written either in English or in Kannada.

. SECTION-A
PN - @
Answer any Five questions. Each question carries Two marks. (5%2=10)
SRREETR W I Nen LR ,303R00 &3 030 QOB ©03MIRY, BROOIIT.

1. a) Define business Finance.
0,300 BEOTORY, 39,30 AR
b) What is capital structure ?
OBV 013 QOT0E ?
¢) Define money market.
B0 IROFEIODIY OPRAPRYE
d) What is operational risk ?
5030F1305 (operational) 103030 Q0TBEI ?
e) Name any four sources of working capital.
OIRFTTTR Jo, FODFRTS WOBIVT mme:mq BHROA.
f)  What is business valuation 7
99,3590 SR, BRI Q0TBe ?
g) What is forward contract ?

FORFEF B0k, B 0T ?
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SECTION-B
aPgon - W
Answer any three questions. Each question carries six marks. (3%6=18)
IRYTTTR R T I NOR LZ0R. 303050 B,F,0%w0 ST 0TI BROOTOTI.
2. Write a note on asset replacement decision.

8y WO AGFTT wrj\ xoiagmn QTOA.
3. What is capital rationing ? Explain the factors determining capital rationing.
LOTIY QO3 £9 DOTTERD 220TIY VOD0E, 3, AFFOROT LOINTe, HOA.
4. Explain any six objectives of inceatory management.
CIRFTTETR ST ORI awraﬁoﬁ emc:(ﬁneesmisgl 230200.
5. State any six sources of short term capital.

SISpIVA WOBIPT CINR)TORTR €330 mgaﬁ@a’% 39,

6. A firm has initial investment of Rs.10,00,000 and cash inflow as shown below.

Year Cash inflow Pv factor @10%
1 5,00,000 0.909
2 4,00,000 0.826
3 3,00,000 0.751
4 1,00,000 0.683
Find out N Pv

L.0TD ROFOD  STORF womeed 0R.10,00,000 Rvonm) =DH IND we TOFY &
FPNT0ST.

SR SN B0y 2.0.7,35° @10%
1 5,00,000 0.909
2 4,00,000 0.826
3 3,00,000 0751
4 1,00,000 0.683

W LY SPOTI), FordLBO00.
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. 10.

11.

SECTION - C
N - X
Answer any Three questions. Each question carries Fourteen marks. (3x14=42)
O3RF3e Do) ZINOR wvgon. T,80300% , 3000 BOTIW, SOTNTI, BRODTOTS.
Explain the ob}ectlves of Fmancml Management
DEFTOR VTEBEROD VTN, DS0R.

What is capital budgetmg ? Explam various methods of capital budgeting.
TR WO 0TI 9 TYABYT WELONT DG DEITNTI) DZ0A.
Explam in detall various 1nstruments of money market.

> mwﬂ:}dob NG T ‘?z,jsm*?‘sgt QWOR.

What do you mean by working capital ? Explain the determinants of working capital.
TODFATZ 0BT 0TS 7 BT 06 BOFIRY WeddR ©03NYI), DO

The Ranga Co Ltd. operates its business with a equity capital of Rs 50,00,000 of
Rs.100 per share. Co. wants to raise further Rs.30,00,000 for major expansion
programme with following 4 alternative plans:

a)  All equity shares.

b)  All debentures at 10% interest rate.

¢) Rs.10,00,000 from equity and Rs.20,00,000 from 10% debentures.
d) Rs.15,00,000 from equity and Rs.15,00,000 from 10% preference shares.

The Co. tax rate is 50%. Calculate E.P.S. of each plan if EB.LT. is Rs.8,00,000.

gon F0E Q0T B,308 T».50,00,000 8r.100 1 AITRT, ReW WoRZTR RN

FODFIBF LRI BF B0 @@%C?Dmh IO T0.30,00,000 wRZ I TR

4 0T SREEINIIY, OmIITING.

a) Wi [RIBI) MRNT, RENV0T BEVHT.

b) 2. SFpgE) Je. 10 3 uRRPT BBV

c) T».10,00,000 momng; seddnvon @03 e dm.?_0,00,000dgi 30.108 moT3,
nYoT DBORNYT. _

d) ©n.15,00,000 ) moRRT, HeMLOT =R ved Tw.15,00,000 S, 3e.108
0,8, Hedneon BEChOD.

gomRod gon wo Je.50 end), E.B.LT. 60.8,00,000 ux38 ©,8 odnexsod o8 HedI

o‘a?,jwz% (E.P.S.) 8030 »&BOWD.
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